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Introduction

At last meeting , E-RAB can not handover issue has been analysis and achieve several agreements. In addition, a few open issues are left.
	The issue of Handle the SRVCC failure 5G->4G (IMS added)->(SRVCC) 3G can be solved by SA2 solutions. No further action in RAN3.

The PS HO failure in 5G<>4G<>3G need no further action in RAN3.

Further action on failure in 3G -> 4G (IMS added) ->5G to be continue.

Update TS 36.300 for SRVCC failure Handle the SRVCC failure 5G->4G (IMS added)->(SRVCC) 3G to be continue.

SRVCC issue when E-RAB attribute (e.g from 5G) missing in intra-LTE mobility to be continue.

To be continued...


This contribution provide our view on the left issue of failure in 3G -> 4G (IMS added) ->5G.
Discussion
The scenario of this failure can be see in [1].

	when a UE starts a PS service in 3G and handover to 4G, in 4G it starts a VoLTE call. In the case that the UE moves further from 4G into 5G SA coverage, it is desired that the Voice call will be handed over without delay, or drop.

It is beneficial if during E-RAB setup or handover, eNB is indicated that weather the E-RAB can be handled over to 2G/3G or 5G.


We are considering a similar scenario as in [1] . 
The UE accesses and starts CS service at 2/3G, for example, when custom using the cell phone receives a call. During the phone call, the UE moves to the 4G network, and the CS service of the UE is not interrupted. However, when the UE moves to the 5G network, due to the reason that PDN connection of the service does not have 5G-related parameters (PDU Session ID, S-NSSAI and 5G QoS), resulting in CS service interruption. That is to say, the user's telephone call is dropped. 

During the phone call, the CS call service is interrupted when the UE moves from 3G to 4G and then to 5G. This call drop may be difficult to be accepted by customers. Because the customer was in a 5G network when the CS service was dropped, custom can aware the UE is in 5G based on 5G flag on the mobile phone screen. 

In order to ensure the continuity of CS services , if the eNB can identify the service origin 2/3G, the eNB can prefer to select a 4G eNB or 2/3G RNC as target RAN node for the next handover to ensure the continuity of CS services.

Observation: It is benefit for service continuity if eNB aware E-RAB original from 2/3G.

When the UE is handed over from 3G to 4G, the eNB receive Handover request message from 2/3G can identify E-RAB(s) originally comes from.  Because the eNB able to identify handover source node through the Handover Request message. However, if the UE continues to move in the LTE network, the new eNB will not know that E-RABs are originally come from 2/3G. Therefore, we propose:

Proposal: To introduce an E-RAB Attribute Indication IE in S1AP and X2AP to assist eNB identify the E-RAB is handed over from 2G/3G.  
Conclusion

In this contribution , the observation and proposals are:

Observation: It is benefit for service continuity if eNB aware E-RAB original from 2/3G.
Proposal: To introduce an E-RAB Attribute Indication IE in S1AP and X2AP to assist eNB identify the E-RAB is handed over from 2G/3G.
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